Math Symbols Name

Basic Math Symbols Name and Examples

Symbol Name in

Symbol | Maths Math Symbols Meaning | Example

S not equal sign inequality 10=6

= equal sign equality 3=1+2

< strict inequality less than 7 <10

> strict inequality greater than 6>2

< inequality less than or equal to X £y, means,y = xory > X, but not
vice-versa.

2 inequality greater than orequalto | a2 b, means,a = b ora > b, but
vice-versa does not hold true.

[] brackets calculate expression [2xB]+7=10+7= 17

inside first
) parentheses calculate expression 3x(3+7)=3x10=30

inside first




Symbol Name in

Symbol | Maths Math Symbols Meaning | Example
- minus sign subtraction 5-2=3
+ plus sign addition 4+5=9
+ minus — plus both minus and plus 1+4=-3and5
operations
x plus — minus both plus and minus 5+3=8and2
operations
x times sign multiplication 4x3=12
* asterisk multiplication 2*3=6
+ division sign / division 15+5=3
obelus
multiplication dot | multiplication 2-3=6
- horizontal line division / fraction 8/2=4
/ division slash division 6/2=3
mod modulo remainder calculation 7mod 3 =1




Symbol Name in

Symbol | Maths Math Symbols Meaning | Example
av power exponent 2¢=16
period decimal point, decimal 4.36 = 4 +(36/100)
separator
Jva square root Ja-Ja=a /9 =3
aAb caret exponent 2A3=8
“/a fourth root “/a+/a-+/a-+/a=a +/16= + 2
Wa cube root /as/a-/a=a /343 =7
% percent 1% = 1/100 10% x 30 = 3
/a n-th root (radical) | v/a-~/a---ntimes=a for n=3,~/8 = 2
ppm per-million 1 ppm = 1/1000000 10ppm x 30 = 0.0003
%o per-mille 1%. = 1/1000 = 0.1% 10%. x 30 = 0.3
ppt per-trillion Ippt =10 10ppt x 30 = 3x10™




Symbol

Maths

Symbol Name in

Math Symbols Meaning

Example

ppb

per-billion

1 ppb =1/1000000000

10 ppb x 30 = 3x107

Upper
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Greek Letter Mathematics Symbols Name

Lower Case
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Greek Letter
Name

Alpha
Beta
Gamma
Delta
Epsilon
Zeta
Eta
Theta
lota
Kappa
Lambda
Mu
Mu
Nu
Nu
Xi
Omicron
Pi
Rho
Sigma
Tau
Upsilon
Phi
Chi
Psi
Omega

English Equivalent

O N O O« T 9

—+
=

C ~+~ »n = T O X 53 53 3 3 — x —

- o o
© v 5=

Pronunciation

al-fa
be-ta
ga-ma
del-ta
ep-si-lon
Ze-ta
eh-ta
te-ta
io-ta
ka-pa
lam-da
m-yoo
m-yoo
noo
noo
X-ee
0-mee-c-ron
pa-yee
row
sig-ma
ta-00
00-psi-lon
f-ee
kh-ee
p-see
0-me-ga



Common Numeral Symbols

Name European Roman Arabic Hebrew
zero 0 n/a 0 n/a
one 1 | ) X
two 2 [ ! 2
three 3 If v 3
four 4 \Y; 2 T
five 5 V ° l
six 6 Vi ! L
seven 7 Vil v T
eight 8 Vil A m
nine 9 IX A v
ten 10 X Ve ,




Name European Roman Arabic Hebrew
eleven 1 XI " X
twelve 12 Xl VY >
thirteen 13 X1 Y »
fourteen 14 XIV ¥ -
fifteen 15 XV Yo M
sixteen 16 XVI "1 ™
seventeen 17 XVII VY -
eighteen 18 XVIII VA m
nineteen 19 XIX ¥4 ek
twenty 20 XX Y. b)
thirty 30 XXX Y. 5
forty 40 XL X n




Name European Roman Arabic Hebrew
fifty 50 L ot 1
sixty 60 LX U e
seventy 70 LXX v v
eighty 80 LXXX A D
ninety 90 XC . X
one hundred 100 C U P

Mathematical Logic Symbols

Symbol Name in

Symbol | Maths Math Symbols Meaning Example
|
\
A caret [ circumflex | and XAy
|
\
and and Xy
|
\
+ plus or X+y




Symbol Name in

Symbol | Maths Math Symbols Meaning Example

& ampersand and X &y

| vertical line or x|y

v reversed caret or XVy

X bar not — negation b ¢

x’ single-quote not — negation X'

g Exclamation mark || not — negation I'x

- not not — negation - X

~ tilde negation ~ X

3] circled plus / exclusive or — xor XDy

oplus

s equivalent if and only if (iff) p: this year has 366 days
g: thisis a leap year
P<=qg

=

implies

Implication

p: @ number is a multiple of 4




Symbol Name in

Symbol | Maths Math Symbols Meaning Example
g: the number is even
P=9
€ Belong to/is an Set membership A=1{12 3}
element of 2€eA
€ Not element of Negation of set A={1,2, 3}
membership 0O¢A
v for all Universal Quantifier 2nisevenvYneN
where N is a set of Natural
Numbers
A equivalent if and only if (iff) p: X is an even number
g: x is divisible by 2
Pp<qg
A there does not Negation of existential b is not divisible by a, then 2
exist quantifier n € N such that b = na
E| there exists

Existential quantifier

b is divisible by 0, then 3 n
€ N such that b = na

because [ since

Because shorthand

a=b,b=c
sa=c(va=b)

therefore

Therefore shorthand
(Logical consequence)

Xx+6=10
“X=4




